Suzi’'s Company T1
This problem gives you the chance to:

» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.
Job Title N;’::;l’;of Annual salary Total

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 $80 000 $ o000 |

Production Manager 1 $80 000 $ 80000

Technician 3 $50 000 $150 000

Office worker 2 $40 000 $80 000

Assembly worker 5 $30 000 A0 0500

Cleaner 2 $20 000 410 006
Total 15 Total 3 (20000

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the

company. Give your answer correct to the nearest $.
$UDREDD

Show your calculations.

(OO0
\5
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T1

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

fo ysk s e Gecuel scaruy_ond s oo

i

00 S \
e WOs e Ouender ot eople XYook Opk
taged ok tueh. 4 ,
b. What is the correct mode of the salary? ?-07 QOO0
3. a. What is the median annual salary at TechScale? $ qo,('j()o

b. Explain how you figured it out.
ngmmm%
cumboee of  geople wn erder 30, 30,20, 30,230,230,
20,40, U0, B6,ED, 50,80, 20,100 Hren yusk Cressed, ot

e nuMber s,

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good?

OO

Explain your answer.

eouse. (- onake  weople e dene . Pk

C Q et C

ccuse  Freoy  wnak most exople are ook,

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

e
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Suzi’'s Company T 2
This problem gives you the chance to:

« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries. GG & e | ‘9 OO
Job Title Ng{f&of Annual salary Total

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 $80 000 O,00 O]

Production Manager 1 $80 000 | @O “O@O

Technician 3 $50 000 ~ $150 000

Office worker 2 $40 000 $80 000

Assembly worker - 5 $30 000, | \6 OO

Cleaner 2 $20 000 o LOOO .
Total 15 Total |FY\\ 5, QDO |-

5 ,

1} A
1. a. Complete the final column of the table to find the total annual salary bill for TechScalD

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the

company. Give your answer correct to the nearest $.
| s HIDXHD

Show your calculations. P

|5 (305000 or

_BUs000 :‘-\;%4)/5/5
S
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

50\\‘(\ Oﬁ\\l LooYaeh  OX  one. ¢ oluwm
when  No ‘(\Qeﬁ»&b\ ko £ind ooX

Nowy OO & mac cpl\or y 4

PO Q;%O;Oo O

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? ﬁ (—‘O | @O O
b. Explain how you figured it out.

/S: \ine N VD e numbers  1n
ocdex  Ahen fQo\Nr\é« Mo 7™ viumber

W e and Yok 6w e median,

4. Which O,ﬁ, thf;1 tshrele averages, mde;m, median or mode, would you use to show that the average
wage at TechScale is very good? .
Explain your answer. med ‘ (i\(\ Jk
g o Cau 5e. the. mensure o Coptval
Xendavet 14 W ex . Ahan  Ahe  oihevs

W AYe  case..

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

MO,

\%
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Suzi’s Company

This problem gives you the chance to: I
» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.

Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title N;’::;l;of Annual salary Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 %20 000
Production Manager 1 $80000 | & ¥0 ODD
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30000 | § 150 oDO
Cleaner 2 $20000 |4 4o oOD
Total 15 Total | & (L, 30 Q0O

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.

X $ 495323
Show your calculations. K
3 _U(;
100,000 . _ -
80' 000 $H45=33.3 30
30 000 OO0 &0
(S0,0 OO0 ‘6[%%3 © Fo
20, 00 O ,“Eg
(50,000 %CE)S :;—
4O, 000 =0 -
¥030000 454 %=
! 50 e
19,
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.,-ii‘a 3

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?
His rwista¥Be Wwos  *ho h= counted &

Oh\} fox one peYson and vwoX oy

othevs.

b. What is the correct mode of the salary? ﬁ \S0 Q0 O

3. a. What is the median annual salary at TechScale? i {\S0O. 000
b. Explain how you figured it out.
Filest T puk  the nuwmbzers tn ovdeyx

£ vowm sonallesy to \o\\:j:{s‘\' and  then

Lfound what NUumbey LS LN +ihe \m'\dé\ﬂ-'
of Fhe se¥ € wumbevs.

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good?

M e dian

Explain your answer.

Th&) m2 Ailon  numbo-ex 5\501,00 shows

about +hh < me&Yag <S ay TecWScole

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

The wmode and +he wedion.
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Suzi’s Company mip 4

This problem gives you the chance to: 7
» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title N;’:oifl’:,f Annual salary Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 90 000
Production Manager 1 $80 000 ﬂ?O 4318
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 ﬁ( 50 000 |
Cleaner 2 $20 000 K40 oco|
Total 15 Total a‘ SQO 000

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $. —
$ %233.3

Show your calculations.

ﬁﬁ‘io co0 <+ \C
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T4

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

TJohn Ad We tNodR  Decayse 4 %0 000
has % sdiou as o Yotal

$50000

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? ﬁ S'O OOD

b. Explain how you figured it out.

In 4he ANNURAL SALARY column  §/00,000
5 ihe largest ano 820000 i§ Ve

s St hen Voo oo Yo 4ne  secound

| 4+ oand WiooesY on <o on W
@;gggsgak “\96 \\Qi, m\g\é\f

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good?
$90 000

Explain your answer.

e cause yoo have 2 o¥ of \§  chance
to get #n0 coo -

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

Modo.
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Suzi’s Company T 5
This problem gives you the chance to:

+ calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Number of

Job Title people Annual salary Total
Chief Executive 1 N\ $100 000 $100 000
Marketing Manager 1 \ $80 000 ‘B 750 OO~
Production Manager 1 f\ $80 000 ﬁ]fb DO ap”
Technician 3 \\\ $50 000 $150000 |~
Office worker 2 %$40 000 $80 000
Assembly worker 5 A\ $30 000 4 [(j\')L
Cleaner ‘ 2 N $20 000 £ UO,000
Total 15 Total | \§ (G50 000/

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.
s U533 33

Show your calculations.

\00,000 B (50,000 1D
30,00 O B 20X

, 60 0 =
12 00 o RUE33 33

%0, 000
|<0, 000
1 L(«QEOQO

T8 630000
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

He did the dotal cost of the job
ond didn't 90 by th Qumber of

;@V_QnLheﬁ@nnuaA salary. $ 30,000
‘BBO@OO

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? ﬁL\ O!

b. Explain how you figured it out.

1 ‘oo thwe number of people. thure vas
Yoc it annual §alam and M_MMJ&D_

qO: C)d.) 40,000, 30,900 30,000, 30 000 ZO, 000 20 000
4. Which of the three averages, mean, median or mode, would you use to show that the average

wage at TechScale is very good? m QOY\

Explain your answer.

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

M oge | 15
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Suzi’s Company S1
This problem gives you the chance to: :

+ calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title Number of Annual salary Total
people , _

Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 m QDQ__
Production Manager 1 $80 000 » : ‘

' 243,000
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30000 \SD oD
Cleaner 2 $20000 | O OO

Total Total
wﬁx@%ﬁmw e 2O, % @lr\%ﬁo

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the

company. Give your answer correct to the nearest $. >,
sUS yD>

Show your calculations.

OO + \D =49,%35
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars

ayear.”

a. What mistake has John made?

b. What is the correct mode of the salary? &QD—Q———

3. a. What is the median annual salary at TechScale? H( ), O :

b. Explain how you figured it out.

der  1om

4. Which of% theh tshre]e averages, mg;m, median or mode, would you use to show that the average
wage at TechScale is very good?
Explain your answer. Mﬁ
CElause. s de.  YAQPESt Nuooef ouk  of
AM & A ::_" Hand o0 1) Yoo nedle s
‘o odvertise of “ngE!'o“ ot Ao Qo L itn'R.

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

| S \ e ST
NN MO vy okbr ok,
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Suzi’s Company 2
This problem gives you the chance to: S

» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title N;':;Z;;Of Annual salary Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 g0, 00 o
Production Manager 1 $80 000 %D, OO 9
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 \VQQ Igb'o
Cleaner 2 $20 000 SUESNY,
Total 15 Total KO %O . @D

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $. i
s 19335

Show your calculations.

(§sD,00V

- 2
5 49222
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S2

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made? ‘
One of Yhe @\joh]il thousanddollays s divided
betwean o peeplt. |

b. What is the correct mode of the salary? —%@Q.—D @)

3. a. What is the median annual salary at TechScale? %QT OQO

b. Explain how you figured it out.
f

M the  midlp

4. Which of the three averages, mean, median or mode, would you use to show that the average
i ?
wage at TechScale is very good? § 2 y

Explain your answer.

e RN s Y9325 The. redian = SO0
The Mode s 20,00, e made s
‘e @Qmajﬁ. -

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

Mpae
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ngi’s Company S 3

This problem gives you the chance to:
« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company,' TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salanes. :

Job Title Number of Annual salary Total
people

Chief Executive 1 $100 000 $100000 | 9 ‘
Marketing Manager 1 $80 000 $ 80,0 —?—&Wz";

Production Manager 1 $80 000 $g0000 /
Technician 3 $50 000 $150000 |= ,
£ a | 5
Office worker 2 $40 000 580000 |5 >°%4

: /

Assembly worker 5 $30 000 oW

- 5150, } Y90
Cleaner 2 $20 000 $40,000 g rE
Total 15 Total | 3,230,000 | - . |

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.

$ D c’-"Ls%?.?
Show your calculations. ,—g
65 333
15 ‘2 30, ° T
Ls o
..,:(J
Y 5
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S3

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

. , .SOhnv'Fochd\' o breads up Hhe
+otals oy numiee’ ot feov‘e He Gorﬂo‘l’ Ao ench

+otal salewy 1S5 ore Men yust one persen.

$%0, 000

b. What is the correct mode of the salary?

<&"\'O/OOO

3. a. What is the median annual salary at TechScale?

b. Explain how you figured it out.

L broke wnp Hre sclavies \o\L bhe Dumber 6{' F‘C
+rct wexe in Hem. Then T (w\\-\rw ~ (-mc:ps)

CEY Sor e ourede 4o e cevdry.

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good?
M e

. Explain your answer.

Becowse i 15 ¥he \\3%\%51‘ Ouwsber,

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

Mocle

VA
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Suzi’'s Company

This problem gives you the chance to:
* calculate and interpret mean, medium and mode in a given table of realistic data

S4

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.
L Job Title Ng:&of Annual salary Total

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 $80 000 m @ ’m

Production Manager 1 $80 000 %8; ‘m

Technician 3 $50 000 $150 000

Office worker 2. $40 000 $80 000

Assembly worker 5 $30 000 mm @

Cleaner 2 $20 000 . 0 (m
Total 15 Total 000

1. a. Complete the final column of the table to find'the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest §$.

Show your calculations.

Copyright © 2007 by Mathemnatics Assessment
Resource Service. All rights reserved.
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|
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S4

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

b. What is the correct mode of the salary? M
3. a. What is the median annual salary at TechScale? m’m—

b. Explain how you figured it out.

4. Which of the three averages, mean, median or mode, would you use to show that the average

wage at TechScale is very good? - . '
NCCOUA :

Explain your answer. ,
REOUWRE. v 0050 Y AR 1 gaiae Aoaetrer|
(% One. oiq Nomeer, |

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

el
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Suzi’'s Company 85
This problem gives you the chance to:

» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title N;’:gh&(’f Annual salary Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 (‘! 80 (0]0/6]
Production Manager 1 $80 000 (ﬁ 80 OOO
Technician 3 $50 000 $150 000
' Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 ﬁ \S00 00
Cleaner 2 520000 | §40000
Total 15 Total ) o0 0000

%% 33X 555,y

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.
s 4533

Show your calculations.

X
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*f * S5

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

: a. What mistake has John made?

He didn't (ook ot the amount™ of

wm_%b@_m» ecach mtcu/q He just

(ooked ot wnat vind of ~ pb mada L‘t
b Wha!t is the correct mode of the salary? —m—QDD——

3.‘ a. What is the median annual salary at TechScale? @ L“ O I O bO

b. Explain how you figured it out.
| toole the 4F'S ¥ place
from._\gagst o wea:eest t \CO‘UVWLH\L

_yudcl e .

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good?
Mean

Explain your answer.
L dy e iohest #1's of the
M, mwed . ¥ meda .

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

~ Median +~ med e

Copyright © 2007 by Mathematics Assessment Page 3 Suzi's Company Test7
Resource Service. All rights reserved.




Suzi’'s Company s 6
This problem gives you the chance to:

+ calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual
salaries.

Job Title N;’:obpel; of Annual salary Total
Chief Executive 1 $100 000 $100 000
Marketing Manager 1 $80 000 {( 0y 000
Production Manager 1 $80 000 o000
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 [ £ QOO@
Cleaner 2 $20 000 0,000
Total 15 Tol | 680,000

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the

company. Give your answer correct to the nearest $. L

Show your calculations.
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S6

2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made”

Becaqbe T4 1s N0t how Mafly ma ke
%‘LO\"' (\/)U(Ch {OJ/OOQ‘[’J | BOJLOOO “‘5

30,006

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? ‘ / gO LO 08
v
b. Explain how you ined it out.

You ch? o0k _ond See

4. Which ofr thc; tShrele averages, m;;m median or mode, would you use to show that the average
o pediy
Because Lf you wWadl peeple {M
WQM Hﬂ(’[ﬂ W)’(/L Use ng M OoSt

wh yA A | %AQ i &O{ o

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

Maole
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Suzi’s Company 87

This problem gives you the chance to:
» calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.
Job Title N;’Zob;l;of Annual salary Total

Chief Executive 1 $100 000 $100 000

, Marketing Manager 1 $80 000 ¥ 90000
Production Manager 1 $80 000 %<0 000
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 150,000
Cleaner 2 $20 000 BYo,000

Total 15 Total B 420,000

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.

$ a1, 14y
Show your calculations.
-1 | 80,000
Q. Be, N6, 50,0, BO, T
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

I don't ok, Ve wiade 23 mivtnve | Phe vwolde 1S

$£0,000.

P $0 000

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? ¥ ©0,000

b. Explain how you figured it out.

XI ﬂlnn‘t +he X'a in aordec Eonn least lo

redxesy \ % .

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good?
AL 224

Explain your answer.

— Gecapne  i¥  aNown  you e  Averagr  Sa\ery.

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

; e ol wmgf_m%
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Suzi’s Company S 8
This problem gives you the chance to:

- calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.
Job Title N Z:&: of Annual salary Total

Chief Executive '? $100 000 $100 000

: Marketing Manager fl/ $80 000 430 ,000

Production Manager 1 $80 000 150,000
Technician 3 $50 000 $150 000
Office worker 2 $40 000 £ $80 000
Assembly worker v $30 000 § 150,000

Cleaner 2 $20 000 §%0,000
Total 15 Total § 550600

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question la to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $. ;
s )8 661

Show your calculations.
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

He som et thee woe 3 .€0°¢ ana owly \o\’ww\lL\“\n[n?q

edse  ouk you_ Gekuelly Lave do Lok W e MNunoer  of  Peopl cdurn

“‘b £,\—\A Mink  Aaswed,

$ 5()’, 000

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? 4 Yo ,000 :

b. Explain how you figured it out.

Fws-\ yow wowd Stk 6% Yhe botlevn and oo \now Mo.»# 'pjoﬂk Hen

OVL b yew  \Jowld dalee  Hack weny offF Yhe -(019 V\V\"’]‘L Ja

/'LQ*' -\’0 ’u/\l. W\\\ ﬁ,}\\b
I

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good? '
Mlt”an

Explain your answer.

T\I\QL Wt b poe  sdants ek cve deotr alh deeble of 0 Has

bt Yhoee e wal dose W o WO,

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

Medion
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Suzi’s Company Sg
This problem gives you the chance to: '

« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.
| Job Title N;'Zob;; of Annual salary Total

Chief Executive 1 $100 000 $100 000

tMarketing Manager 1 $80 000 & g0 vo0o
Production Manager 1 $80 000 ,$ 80 Q00
Technician 3 $50 000 $150 000
Office worker 2 $40 000 $80 000
Assembly worker 5 $30 000 $ 15000 /5
Cleaner 2 $20 000 $ Y0 Loo

Total 15 Total $ 680 000

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.
s $45333

Show your calculations.

166500 , c 463+3.3
PO, Is [ 680000

:g#—ae—e"' _6/0
&0 0
W e

S0

i
@@ d s
T

e So
% ’7' S
Wit 50
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
ayear.”

a. What mistake has John made?

Db god potnd 22 Yo el ey fo2 <nce

WMW%Z’/%&M 2—%@’ |

W’é viteg ,%f ritted ey

b. What is the correct mode of the salary?

$ 30 coon

§ yoooo

3. a. What is the median annual salary at TechScale?

b. Explain how you figured it out.

U —onclonent e anwed galeziey fon Lony
/Z?W-awé 22l uek ot Aot

g‘;;‘"&dm%%,@ /%M ,45%4 s
wisieh pgres, . Ch e @&w«»uz,/% fine, L.
A At 2f U/fﬂm/;/é C£ M% AN&@(“[’ZK:’?-;'/ ,,,:;ﬁ;/f

4. Which of the three averages, mean, median or mode, would you use to show that the average

wage at TechScale is very good?
) % TS
Explain your answer.

2k St A n ot T -4 e

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

-

Which of the averages (mean, median and mode) will not change?
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Suzi’s Company S 1 O
This problem gives you the chance to:

« calculate and interpret mean, medium and mode in a given table of realistic data

Suzi is the chief executive of a small company, TechScale, which makes technical instruments.
Fifteen people, including Suzi, work in the company. The table shows the jobs and their annual

salaries.
Job Title Number of Annual salary Total
people

Chief Executive 1 $100 000 $100 000

Marketing Manager 1 : $80 000 $ 0000

Production Manager 1 $80 000 —‘& L 00

Technician 3 $£50 000 $150 000

I

Office worker 2 $40 000 $80 000

Assembly worker 5 $30000 {5 ODOO

Cleaner 2 520000 41Uy YO
Total 15 Total O 100G

1. a. Complete the final column of the table to find the total annual salary bill for TechScale.

b. Use your answer to question 1a to calculate the mean annual salary for the 15 employees in the
company. Give your answer correct to the nearest $.
,~ s 050 ,0Q0

Show your calculations.
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2. John looks at the table and says, “The mode of the salary at TechScale is eighty thousand dollars
a year.”

a. What mistake has John made?

e did opx count MO oo
2tcple \od Yhese  saloaies.

$ 30,000

b. What is the correct mode of the salary?

3. a. What is the median annual salary at TechScale? \"‘O[ OQ Q_)

b. Explain how you figured it out.

A R e N Ol cana)
od e oxe iy e sendde

4. Which of the three averages, mean, median or mode, would you use to show that the average
wage at TechScale is very good?
. RAVSCIaY
Explain your answer. =
0 I e M c
Q\I@'C%/@ ;

5. Last year, TechScale did not do very well so Suzi decided not to pay herself any salary for a year.

Which of the averages (mean, median and mode) will not change?

MdLaun,
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